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REVIEW  5.4 - 5.6  
Algebra 2 Trig  

 
For #1 - 5 , s implify each expression.  Remember that there should be no powers 

of i  in the final answer .  

 
1.   (6 3 ) (10 9 )i i- - -         1.  _____________________ 

 
 
 
2.   (2 5 )(1 3 )i i+ +          2.  _____________________ 

 
 
 
3.   (6 )( 4 )(7 )i i i-          3.  _____________________ 

 
 
 

4.  24-             4.  _____________________ 
 
 

5.  
25

64
-           5.  _____________________ 

 
 
 
 
For #6 ð 8 , complete parts (a) - (c).  

a)  Find the value of the discriminant.  

b)  Descri be the number and type of roots (circle one)  

c)  Find the exact solutions.  Be sure to simplify/reduce your final answer.  

 

6.  23 12 12 0x x+ + =         6a)  d = _________________ 
 
          b)      2 real/rational       2 real/irrational 
  

                            1 real          2 imaginary 
 
             c) _____________________ 
 
 
 
 
 
 
 




